Roll No:-
Sem-I111 Diploma Exam 2023 (Odd)
(Electronics Engineering) (Theory)
[Time: 3 Hours] Analog Electronics (1621303-P) [Max. Marks: 70]

- All questions are compulsory. (ﬂlﬁ 1K) G{ﬁ?ﬂﬁf%l)
- Marks are mentioned on the right side of each question. (3 T Uy & T8 3R &mmél)

Group (A) (YU -¥)

Q.1 Choose the most suitable answer from the following options. (1*20=20)

(Taifee Sudad fadwed &1 g o) :-

I. Which of the following relatlonshlp between ‘a’ and ‘B’ is correct?
Faffad @ o & p %aﬂaﬁq 1 Ty TG §?)

(@) = (158) (b) « (1+s) GESEG (d)a= %

ii. The emitter follower is mainly used for
(TR ISR BT &id: TONT & [o1¢ fpaT S 21)

(a) Current gain (b) Voltage gain (c) Impedance matching (d) None of these

(@<c ) @lees ) @ifcaTe Afim) ETH A DTS 8
iii. coupling is generally employed in power amplifier.
(T yaties § TG Ul BT YA Bid 21
(@ RC (b) Direct (STAYE) (c) Transformer (CRIHIAR)  (d) Impedance &fUS W)
iv. On which of the following factors h-parameters depend upon?
rafaRad § 3 f sRST IR h-uRHeR AR B 32)
(a) Operating point (ST ﬁl’g’) (b) Temperature (TYHTA) (c) Frequency (&ﬂ?jﬁ'l) (d) All of the above (B'Cl'iiTﬂ H‘l-ﬁ)

V. The oscillation frequency of phase shift oscillator is given by
(ot RIve Sl &1 gl MR ST A gars )
1 1 1 3 3
(8) 5 (0) —— (©) e (d) None of these (378 ¥ 15 -Ta1)
Vi. An oscillator employs feedback.

@I o NACEEARGIR)
(a) Negative (FAfEY)  (b) Positive (AIFITEH) (c) Both (a) and (b) ((31) TF (d) GIF) (d) None of these (3TH A PTs Ta))

vii.  Which of the following has highest current gain?
afafad # feyge fagga urt 719 siftiedd giar 82)
(@ CB (b) CE (c)cC (d) None of these (3TH ¥ P13 -Tal)
viii.  An amplifier has a power gain of 100. It’s gain in ‘dB’ is —
(5t ugefes o1 urar 74 100 § A dB & T BT HH BRI )
@) 1 (b) 10 () 20 (d) 40
iX. The dimension of the h;, parameter is —
(h;, TRTHIR BT faAT BN & ) . .
(a) Ohm (&ﬁTI) (b) Mho (@) (c) Dimension less (ﬁ'ﬂ'l%%ﬂ (d) None of these (37{3[ | ﬁ% '_‘lﬁ)

Page 1 of 4 (1621303-P)



X. The lower and upper cut off frequencies are also called frequenues

(9 T8 3= He 31 Mg, 3ngfey +t g 21)

(@) Side band (T3S &) (b) Resonant @Gﬁﬁa (c)3dB (d) None of these (31 T ®I5 Tal)
Xi. For an ideal voltage amplifier the value of output impedance should be —
(U 3M1e dieest Yot & o sirgeye SISy &1 #H g =gy )
(a) Zero (R[Y) (b) Infinity (3-) (c) Very small (dgd &H)  (d) Very large (dgd wUlal)
xii. ~ Which of the following power amplifier has highest collector efficiency?
ofeiad # T g e yade &1 padex e 3ifdiear gidl 87)
(a) Class — A (@ — A) (b) Class — AB (@1 — AB) (c) Class — B (&% — B) (d) Class — C (@ - C)
xiii.  The bandwidth of a single stage amplifier is that of multistage amplifier.
(U el =RV Gatfeb P} S8 WSS Tg TRUTatid Bt 21)
(@) Less than @ HH) (b) More than (@f Wlal)  (c) Same as @ SRTSR)  (d) None of these (FI'EI | ﬁ'ﬁg :lﬁl)

xiv.  Negative feedback is used in
CBUTHS Bledd A Ugad giargl)
(a) Oscillator (GIE) (b) Rectifier Af&RWBRR)  (c) Amplifier (Fa8f®)  (d) None of these (371 T ®Is gl

XV. The phase difference between output and input voltage of a CE amplifier is —
(ot ce vadfe o 3M3eye Ud 3Ye & sie BT Hall 3faR 8T & -)
(@) 0° (b) 90° (c) 180° (d) 270°

xvi.  The maximum efficiency of RC coupled Class — A amplifier is —

(RC YA aFf - A Uae BT S1fAHIH & il & -)

(@) 25% (b) 50 % (c) 100 % (d) None of these (3TH ¥ PI3 a1
xvii.  In trans resistance amplifier the ratio of output to input has the dimension of —
(T IR yadfe A 3m3eye ud 39Ye & 3gurd &1 faar gt 8 -)
(a) Impedance (;rl?ram) (b) Admittance (Qéﬁléﬂ) (c) Current (<) (d) Voltage @@GD

xviii.  Which of the following oscillator uses inductor in its circuit?

afafed & @ HH-91 Sl o= aRuy & IR% &1 Y41 T 372)

(a) Wien-bridge oscillator (b) Hartley oscillator (c) Colpitt oscillator (d) Both (b) and (c)
(&) T (@) 3

xix.  CC configuration has —
(cc A garsg -
(a) Very high input impedance (§gd STTGT $TYC UfdaTem)
(b) Very low input impedance (dgd ®H gYc EI'[%IEIT‘P.I'D
(c) Very high output |mpedance (dgd Glal 3f13cygc EI']%IEIT%H)
(d) None of these (3?»‘?[ ?ﬁ'ﬁf:l_sﬁ)

XX. The gain of an amplifier with feedback is knownas _ gain.
(BIeas & g P gads B9 AT peardigl)
(a) Open loop (G<IT <fU) (c) Both (a) and (b) ((31) Eﬁ_"ﬁ)
(b) Closed loop (8 u) (d) None of these (Eqﬁ aﬁ's‘ T{ﬂ)
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Q.2

Q.3

Q4

Q.5

Q6

Group (B) (gtr-iﬂ)

What is frequency distortion? How does it differ from phase distortion.

(3R fa=qur 1 BT 872 98 Hall fawuur ¥ fhd UaR 7 giar 8?)

OR (31Yd)
What is Barkhausen Criteria? Explain.
@AY AFES FT 87 SRS B 1)
Derive the hybrid model of CB configuration.
(cB o= & gTEfore died & U &1 1)
OR (31Yd)

What are the differences between current feedback and voltage feedback?

(egd YRT BISae Td diee Blsdd & §1F 3T 3R 81 82)

Explain RC phase shift oscillator.

(R-C ol RRITe Sae &1 RS B 1)
OR (3fdT)

Find the value of h-parameters if the input voltage and output current of two port network is given by,
V1 = 10[1 + 6V2 and 12 == 4‘[1 + 3V2

(Ffep it Q1-UIE Yeaeh H h-URTHICR &1 A Fepret Ufe g7Ye fava Td erdeye yrTfdang - v, =

101, + 6V, Td I, = 41, + 3V,)

What do you mean by Push Pull amplifier? Explain in brief.

(QRI-Yd TaEfe & 3T 1 TH 82 W& & TR B )
OR (372faT)

Draw equivalent circuit diagram of CE transistor using h-parameter.

(h-ORTHIER &1 YINT R CE TITOReR o1 YA URTY 3G T 1)

Define hje, hye, hre and hy,

(Ries hye, hpe T Ry, T IRHINT B )
OR (37d)

Define and explain decibel gain.

SRITA T 1 IRYTT ¢ Td HRAT B )
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Group (C) (Z9 - ¥

Q.7 Find the gfficiency of transformer coupled class-A power amplifier. 6
(CIIBIFR S I - A e Tt B GefdT HI J1d B )
OR (31yYd)
Write short notes on the followings: - 6

(a) Direct coupling
(b) Large signal amplifier

(Fafafea o dfé fewoft ford -
(31) STRET HUTeHT
@) <rd Ry vatis)

Q.8 Explain the working prir‘]ciple of Colpitt Oscillator. 6
(PIAMUE GIa® & BT RIGId Pl AR B )
OR (31Ydm)

Derive the following relationship for a single loop feedback system, A = ﬁ : where symbols have their

(ep]

usual meaning.

(TPl U BTSSP FoTell & ferg FRaferfed Wi, 4, = 5 1 31d 33 o’ forl & o Fmr &)

Q.9 Explain ideal trans conductance amplifier with suitable block diagram and expression. 6

(I WUS-3RW UG oD & 1Y T el b sae T Uaeisd &1 RS Hi 1)
OR (37dT)

Find the value of h-parameter of given circuit — 6

(few 7T uftuy & fore h-uRTHeR &1 79 fRuifd B3 1)

? a4
. B U

G
Q.10 What is an oscillator? How does it differ from an amplifier? 6
@Ia® I 3T T U 82 I8 Uatie A fhd UsR 3erT gid1 87)
OR (31yYd)

Explain transistor tuned amplifier. 6

(CIOReR &S Uade &1 e d1 1)

Q.11 Explain small signal amplifier and large signal amplifier with the help of circuit diagram. 6

(IRTY TG DI Tl & 7Y R Uaeid Ud <Y R Uatid o oaRedl & |)
OR (374

Why is negative feedback employed in high galn amplifiers? Explain. 6
@ N9 Yadsd! H BUTdS Bisad i gidT 32 IR B 1)
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